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H O oH HF HF H O H H H

import math

#
# comFunction : @B
#
class comFunction:
#

# A NI XRILF—5TE(e)
# <Param>

# m B=(kg)

# v I &EE(km/h)

#

def A(self,m,v):
return m*v*2 # A=mv"2

v o BMIRILFSEE BRE(Kkm/h)
<Param>

A BN IXRILF—(e)

m : BE(kg)

H OH HF H H H

def v(self,Am):
return math.sqrt(A/m) # v=sgrt(A/m)

S . BMIXILF—EE(e)
<Param>
M RIDREBE (Kg)
m : BEEX&EEE (kg)
ro: 2 RKFEEERE (km)
n TEEENIXILY— 2REFENIRILF—

H O H HF H O H H HF H

def S(self,M,m,r,n):
u = self.u (M,m) # Em = mp x c*2



Sr=n*u/r #Sr=Emxac/r
return Sr

u - BT
<Param>

M  FILDREEE (kg)
m : BEEXAEEE (kg)

H OH HF H H OH

def u(self,M,m):
Em = self. Em(m) # Em = mp x c"2
ac = self.a(M,m) #ac=Ux (m+ mp)
u = Em™*ac # u =Emxac
return u

#

# Em : BEIX/ILF—(e)

# <Param>

# M E=(kg)

#

def Em(self,m):
cc = comConst()
Em =m * cc.c™2 # Em = mp x c*2
return Em

a | ORFFEZAEHHEFZF (km)
<Param>

M : B=(kg)

m  FARXRAEEE (k)

H OH HF HF H H

def a(self,M,m):
cc = comConst()
ac=cc.U*(M+ m) #ac=Ux (m+ mp)
return ac # Em = mp x c*2

hToS : KM %= ®ICHRE
<Param>

# h :BEE(N)

#

def hToS(self,h):

H H H



return h/3600

#
# radToDeg : radian & [EICi&
# <Param>
# rad : EfE(h)
#
def radToDeg(self,rad):
return rad * 180 /math.pi

#
#EHEH 77K
#

class comConst:
c=299792458/1000*3600 #3333 (km/h)

U=7.42426¢-31 #FE T 2L E—EH (km/kg)
M =1.9891e30 #XBEEZ (kg)

m = 1.89813E+27 #AREBE(kg)

mp = 1000 #FHEMEE (ko)

Rj = 7.9992¢8

Re = 149598262 #X5— IR EERE

r =2.25302e6 + 71492 #KEf=

Rp = 7.9992¢8

ap = 4.1759e9

rp =6378.137 + 260.9 # (A=) (km)
6 =1.32542 # BAAE(rad) 6=75.941°

def listU(self):
print(")
print(" ")
print("< FEHRATEH>")
(
(

print(" ")
print(")

print("Y¢&& ¢ = {0} km/h , FEHIR/ILF—EH U = {1} km/kg".format(self.c,self.U))

def listM(self):
print("")
print(" ")
print("<BEFREZ>")




pl’int("")
print("XZEE M = %.5e kg"%(self.M))
print("thIREE m = %.5e kg"%(self.m))
print("FHEME=E mp = %.5e kg"%(self.mp))
print("AKBG-HERREER Re = %.5e km"%(self.Re))
print("KE£38 = r = %.5e km"%(self.r))
print("")
#========:::::==========::::===========:
# earthToJupiter : H#IERMNSKE
#=======================================

class earthToJupiter:
#HEk N S REME

Sp =0 #EEERFEFNIRILY—
Se =0 #AREMAEBHNIXILF—
Sap=0  #FREARFRNITRILF—
ve =0 #IELREE

vp =0 #AKREIEEE

def culcVelocity(self):
cf = comFunction()
cc = comConst()

self.Se = cf.S(cc.M,cc.mp,cc.Re,1) # B L= T RILF—
self.Sp = cf.S(cc.M,cc.mp,cc.Rp,1) # REMEFFHN T RILF—
self.Sap = cf.S(cc.M,cc.mp,cc.ap,1) #ERETAFFHN T RILF—
self Ae =2 * self.Se + self.Sap #MEREHEITRILF—
self. Ap =2 *self.Sp + self.Sap #AKEFEEMIR/ILF—
self.ve =cfv(self.Ae,ccmp)  #EAEE

self.vp = cf.v(self.Ap,cc.mp) HARETERE

return self.vp
def listData(self):

cf = comFunction()
cc = comConst()



print(")

")

print

print("<#IK->KE vp>")

print("
print("")

")

BB-REREH Rp = %.5e km"%(cc.Rp))

print (" 3 & ap = %.5e km"%(cc.ap))
print("EKERHEERE  ve = %.5e km"%(cf.hToS(self.ve)))

print(" K&

(

(

(

(

(
print("X
(

(

(
print(")

class Perigee:

#iE R

vHr =0
vWr=0
AHr =0
AVr =0
Ar =0
Sr =0
vr =0
6r =0
#

FEEE  vp = %.5e km"%(cf.nToS(self.vp)))

# EXEGEFFRE

# PIORAEFFERE

# BEHBEAREBNIRILF—
# POREEHF BT RILF—
# 2EMITXRILF¥—(=2Sr + Sa)
#ERERN I RILF—

# culVelocity : EEEHE

#

def culcVelocity(self,Sa):

cf
cc

= comFunction()
= comConst()

self. AHr = cf.S(cc.m,cc.mp,cc.r,2)
self. AVr = Sa

self.v

Hr = cf.v(self.AHr,cc.mp)

self.vVr = cf.v(self.AVr,cc.mp)
self.6r = math.atan(self.vVr/self.vHr)
self Ar =2 *self. AHr + Sa

self.v

#

r = cf.v(self.Ar, cc.mp)

#listData : T—%JXb



#

def listData(self):
cf = comFunction()
cc = comConst()

")

")

r =%5ekm"%(cc.r))

vr = %.5e km/h"%(cf.nToS(self.vr)))

6 = %.b5e E"%(cf.radToDeg(self.6r)))
vHr = %.5e km/h"%(cf.nToS(self.vHr)))
vVr = %.5e km/h"%(cf.hToS(self.vVr)))

AHr = %.5e je"%(self.AHr))

AVr = %.5e je"%(self.AVr))

print(""
print("
print("<@AGER) r>")
print("
print(™)
print("
print("
print("
print(" (R#EHE)
print(" (FRIDKAE)
print(" (B#EHE)
print(" (FRIDVRAR)
print(")

# SemilntersectingAxis :

class SemilntersectingAxis:

a =0
B6a =0
va =0
vHa =0
vWa =0
AHa =0
AVa =0
Aa =0
Sa =0

def culcVelocity(self,Sa):

# Bt

# BB AE (rad)

FEMPIE  $5H

GEm) (km)
0=26.97242°

# Bt (km/h)

# EAEYETFEE

# DR ETTIARE

# EEHEAABNIRILF—
# PIODREE T RSB ITRILF—
# BT RILF—
# ENTRILF—

cf = comFunction()
cc = comConst()

self.a = cf.u(cc.M,cc.m) / Sa
self.AHa =2 * Sa
self.AVa = Sa



self.vHa = cf.v(self.AHa,cc.mp)
self.vVa = cf.v(self.AVa,cc.mp)
self.6a = math.atan(self.vVa/self.vHa)

self.Aa = self.AHa + self.AVa
self.va = cf.v(self.Aa,cc.mp)

#
# listData :
#

F—HUZ K

def listData(self):
cf = comFunction()

print
print

")

print

"<ARA(FEXE) a>")

print
print
print

")

©

)]

>
cheininic e ie s e s R R

=]

%

print (& E

print("AE

print("Tx (EX%EHE)

print("TX (FOHKE)

print "WE (BEEHE)
WE

(FRIDRE)

class AreaOfInfluence:

"<ARA(FERE) a>")

a = %.5e km"%(self.a))

va = %.5e km/h"%(cf.nToS(self.va)))
Ba = %.5e E"%(cf.radToDeg(self. 6 a)))
AHa = %.5e je"%(self.AHa))

AVa = %.5e je"%(self.AVa))

vHa = %.5e km/h"%(cf.nToS(self.vHa)))
vVa = %.5e km/h"%(cf.nToS(self.vVa)))

FHhgE FEBERERA

#EHE
R =0 # Bt GES) (km)
6R =0 # BAABE(rad) 6=26.97242°
vVR =0 # RARE (km/h)
vVHR =0 # EEHBEARRE
VWR =0 # FIDRAES FHRE
AHR =0 # BEHEARENIRILF—
AVR =0 # FIOREFEHREPTRILF—
AR =0 #EBWIXRILE—
Sa =0 #ENITXRILT—



def culcVelocity(self,vp):
cf = comFunction()
cc = comConst()

selfvR =vp

self.vWR = vp * math.sin(cc.6)

self.vHR = vp * math.cos(cc.6)

self. 6 R = math.atan(self.vVR/self.vHR)

self AVR = ccmp * self VWWR*2  # FRIOKEEHRE T RILF—

self AHR = cc.mp * self.vHR*2  # EX#H @A I RILT—
self.Sa = self. AVR

u = cf.u(cc.m,cc.mp) # EATEH
selfR =2* u / (self.AHR) S EBEIERE (a)

return self.Sa

def listData(self):
cf = comFunction()

print(")

print(" ")

print("<{EA (ZERBE¥X) R>")

print(" ")

print("")

print("EEEE R =%.5e km"%(self.R))

print("&RE vR = %.5e km/h"%(cf.hToS(self.vR)))
print("AE OR = %.5e E"%(cf.radToDeg(self. 6 R)))
print("EE (BEEHE) VHR = %.5e km/h"%(cf.hToS(self.vHR)))
print("E&E (F/DXE) VR = %.5e km/h"%(cf.hToS(self.vWR)))
print("Tx (E%#HE) AHR = %.5e je"%(self. AHR))

print("Tx (F/OKE) AVR = %.5e je"%(self. AVR))

print(")

# define Class

#



cc = comConst() # BT TR
ej = earthToJupiter() # HWERNSKEY X

pg = Perigee() #IERT TR

ia = SemilntersectingAxis() # F%&HY X
ai = AreaOfInfluence() TEE T TR
#

# Valiable

#

VR=0 T EBIRARE
Sa=0 # FETEEEN T )L —
#

# Listing

#

# Common Constant

cc.listU() # FEHEEH
cc.listM() # BEBERER

VR = ej.culcVelocity()  # #HERHNSAETEEHEEAE
ej.listData() #UX K

Sa = ai.culcVelocity(VR)  # BZEBERARRNTRILF—5tE
ai.listData()

ia.culcVelocity(Sa) # FITERIREE
ia.listDatal)
pg.culcVelocity(Sa) # JERUIRRE

pg.listData()



